EARAROBEEIERT — 2 N— IBISH —F 20165128308 (£) 9mEKIR4H

KR C oM S5 R— ‘ [xE] 2 ‘ (el — | & (B) 14000 TR
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— N ERRE 132. —-2-1- . — REEM (KR)
1 Y= LAHY—J % 3 5@4_0 1(3_2)6 2-2-1-1 | 41.5 2 ;1_535) a3 g5y
R:TZ7v 724K B:VYI=¥E—7 fidrabae]
[ETES = 4t 3 | BEIE 1:32.8 1-1-1-1 | 41.8| — 3 460 |ERAE (KR)
2 1 EHAH—-7 54.0 (3/4) +5) INEFETR
8=/ XLy b B ALFAILR TS
SN o5 e AF8E : —4-3- - FEER (KR
N > BESELES 44 & 1(.13/22.>9 5-4-3-4 | 41.6 5 :;6) Pl
R:Td—T4F4F -9 B IXEAIN—-2 INTr—L
F=ds 43 | WAEEEE 1:33.1 2-3-3-3 | 41.8| — 1 463 | =H=E (KR
4 Y 6 NIAZFFIO 54.0 (3/4) (-3) 33 ’
BN AT S S 3 VA e (AT I MEs
S B > $hR%E :34. ~7-8~ . — HHEE= (BRE
5177 7_"'7“/1'7/\X|\ > 9 e 1(.;33)7 8-7-8-7 42.0 6 (4‘:’6) EHER
L:T7htEy b B:TU-ELXE— [aa=xie]
> RS, A, 43 ft 5 | WOB— 1:34.8 7-8-6-6 | 42.1| — 7 451 | RIIEE (KiR)
6|78 2 Sl N B 54.0 (1/2) 2) AE
L:yn7x B:FT7YCTIr—2X INHINH T 7 — LI
< w e — > SlorsEdd :34. -10-9- . - SRR (KR)
7Bl 3| 3VTRYV2=T— i ey | e e ° g) LAHE
LIIVTEHALLR BFLHL /U ROM%S
R KR . —5-5- — HHE (KR)
slglio| # 1 vawrsnr i 5 a5 (11.315/.“0) 4-5-5-5 | 42.9 10 (4;1) LI i
RFaF2HN B LYALY—Y YFATBE
5 ft 6 | WABER 1:35.2 6-6-6-8 |42.5| — 8 447 | FEFSZ (BER)
9155 AT D ¢ 54.0 (1 1/4) 0 YA/EEW—
x4 x77 B:RTF157 A HFE
Py S 4 o5 | BEAE 1:37.2 9-9-9-10 |43.7| — 4 437 | BHIZ OKR)
10[8[9| 71T AT v>a 5.0 (51%) Co) |WTER
LN—VFNTyPa BHLT—-REY1— L s
® 1—F—@EBIERL
13—7— 1,(4,6),10,2,5,8,7,9,3
2a=5F= 1,4,6,2,10,5,7,8,9,3
== (1,4),(2,6),10,(5,8),7,(3,9)
AT =5F= (1,4),6,2,10,8,7,5,3,9
[ /N
BB 4 220 | | 74 K 1-4 210 | | # & 1-4 1,020 | | 3:&EE 1-2-4 5,900
B B 4 140M 2-4 580M B = 1-4 900M JEE 4-1-2 11,900M
1 170 1-2 2,100 B H 4-1 1,400
2 220M

ABICOVWTRDTEEERROODE. TR LIV,




